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Q1. What is the derivative of 1+ 2cosx w.r.t. ‘x’??
@1+2cosx (b) —2tanx (c) 1 — 2sinx (d) —2sinx

Q 2. Differentiate w.r.t. ‘x’ if y = 3sinx — 2
ay _ dy _ dy _ NN
(a)&—B (b)dx—3cosx (C)dx—3cosx 2 (d)dx—351nx
Q 3. Differentiate w.r.t. ‘x’ ify = cosx — 2x
a) ¥ = -2 b) ¥ = sinx -2 0) &= _sinx — 2 <(d) Noneof tHese
()dx—cosx ()dx—smx ()dX— sin x (d)

Q4. What is the derivativeof ‘constant?
@1 (b) zero
(€) o (d) cannot be determined

Q5. Find the derivative of the function: F (%) = 6x>~9x + 4, w.r.t. ‘x’:
(@ F(x)=18x% +9 (b) F'(x) = 6x% — 9x
(OYF'(x).= 18x%> -9 (d) None of these

Q6. Find the value of % at x=2,y/'= Inx?;
(a) 2 ()1 (©)= (d) None of these

Q7. GivenS=1+5t+3, find%
() 2t+5+2> (b) 2t +5 (©) 2t d)t+5

Q8. Ify:3x5—BX—§,FindZ—z?
@15x*-3+=  (0)15x*+3+—  (15x*-3+=  (d)15x*-3-

Qo. Ify:6x7—4x5+5x4+5x2—40,find%?
(a) 42 x® — 20 x* + 20 x® + 5x — 40
b) 42 x® — 20 x* + 25 x3 + 5x
(
(c) 42 x® —20 x* + 20 x3 + 10x — 40
d) 42 x8 — 20 x* + 20 x® + 10x
(
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_ 1\2 . dy n
Q10. y= (x + ;) , Find —
1 1 1 2
@ (x+ 3) (b) 2x + = (0) 2x- = (d)2x -2
Q 11. Find the derlvatlve of the functlon F(x) = 10Vx3 —Vx7 + 6\/_ 3, Wrt. x;
5
@ F'(x) = 6x" 5——xz+16x3 (b) F'(x) = 10x~ s——x2+6x3
5
() F'(x) =6x"2— Exz + 16x3 (d) None of these
Q 12. Differentiate w.r.t. ‘x” if y = 15 sinx — 2e* — %xz +5
(a)%=15cosx—2xex—2x (b)%=15cosx—26x—x
dy _ _ dy _ o 9X
(© = 15cosx — 2 (d) = 15sinx — 2e* — 2x
Q 13. Differentiate w.r.t. ‘x’ ify = 2Inx — 2x? — 3cosx . 1
(a)ﬂ=2ex—4x—3sinx (b)ﬂz-z——4x—3sinx
5 )
B _ 9ox _ ; o _Js_ ;
(© dX—Ze 4x + 3sinx (d)dx—x 4x + 3 sin x
5
Q 14. Differentiate w.r.t. ‘x>ify =«2 +Inx 4+ 2sinx
dy _5 2.1 & ASpN Y/
(a)dx—zzcz+x+2cosx (b)dx—zzc o 2cosx
dy 2 1 L
(C)&—x2+x+2cosx (d)dx—x2+x 2cosx
Q 15." Differentiate w.r.t. ‘x’ if y =Sin x — cos x4 In G)

4y _ & + dy _ : 1
(a)dx—cosx smx+x (b)dX—cosx+smx+x

(© % = cosX# sin x = % (d) None of these

Answer Key

Q.1 d

Q2 b

Q3 ¢

Q4 b

Q5 c

Q6 b

Q7 b

Q8 ¢

Q9 d

Q.10 d

Q.11 a

Q.12 b

Q.13 d

Q.14 a

Q15 c
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